TRANSFORMATIONS OF MULTIPLE RANDOM VARIABLES

We are often interested in the distribution of a function involving two or more random variables. Example: Let X1, X2 be independent Exponential (2) rus and Lt $Y = \frac{X_1}{X_1 + X_2}$ One way to find the distribution of Y is to directly derive its cdf: Firstly, the joint durity of X1, X2 is given by $f_{X,X_1}(x_1,x_1) = \frac{1}{2}e^{-x_1} + e^{-x_2} \mathbf{1}(x_1,z_0) \mathbf{1}(x_2,z_0).$ Note that the support of Y is 21= (0,1). For y E (o, 1), we have $F_{y}(y) = P(Y \in y)$ Integrate over this region x₂ $= P\left(\frac{X_1}{X_1 + X_2} = Y\right)$ $\chi_2 = \begin{pmatrix} 1-y \\ -y \end{pmatrix} \chi$ = $P(x_1 \leq \gamma(x_1 + x_2))$ $= \mathcal{P}\left(X_{1}(1-Y) \leq Y X_{2}\right)$ x. $= P(X_2 \ge \left(\frac{1-y}{y}\right)X_1)$ $= \int_{0}^{\infty} \int_{\left(\frac{1-y}{y}\right)x_{1}}^{\infty} \frac{-\frac{x_{1}}{\lambda}}{\frac{1-e}{\lambda}} \frac{x_{2}}{\frac{1-e}{\lambda}} dx_{2} dx_{1}$

$$= \int_{0}^{\infty} \frac{1}{\lambda} e^{-\frac{x_{1}}{\lambda}} \left[-e^{-\frac{x_{2}}{\lambda}} \right]_{(\frac{1-y}{\lambda})x_{1}}^{\infty} dx_{1}$$

$$= \int_{0}^{\infty} \frac{1}{\lambda} e^{-\frac{x_{1}y}{\lambda}} e^{-\frac{(1-y)x_{1}}{\lambda}} dx_{1}$$

$$= \int_{0}^{\infty} \frac{1}{\lambda} e^{-\frac{x_{1}y}{\lambda}} dx_{1}$$

$$= \int_{0}^{\infty} \frac{1}{\lambda} e^{-\frac{x_{1}}{\lambda}} dx_{1}$$

$$= \chi \int_{0}^{\infty} \frac{1}{\lambda} e^{-\frac{x_{1}}{\lambda}} dx_{1}$$

$$= \chi \int_{0}^{\infty} \frac{1}{\lambda} e^{-\frac{x_{1}}{\lambda}} dx_{1}$$

$$= \chi \int_{0}^{\infty} \frac{1}{\lambda} e^{-\frac{x_{1}}{\lambda}} dx_{1}$$

So

$$F_{Y}(y) = \begin{cases} 0, & Y \leq 0 \\ \gamma, & 0 \leq y \leq 1 \\ 1, & 1 \leq y \end{cases}$$

This is the cdf of the Uniform (0,1) distribution, as

$$Y = \frac{X_1}{X_1 + X_2} \sim \text{Uniform (0,1)}.$$

The following theorem is useful in "nice" situations:

Theorem: Let
$$(X_{i,j}X_{2})$$
 be a pair of continuous rvs
 $joint part f_{X_{i,j}X_{2}}$ and support set
 $I = \{(x_{i,j}x_{2}): f_{X_{i,j}X_{2}}(x_{i,j}x_{2}) > 0\}.$
Consider the pair of continuous rvs $(Y_{i,j}Y_{2})$
 $Y_{i} = g_{1}(X_{i,j}X_{2})$, $Y_{2} = g_{2}(X_{i,j}X_{2})$,
where g_{i} and g_{2} are constant returning values in
the set
 $U_{j} = \{(y_{i,j}y_{2}): y_{i} = g_{i}(x_{i,j}x_{i}), y_{2} = g_{2}(x_{i,j}x_{2}), (x_{i,j}x_{2}) \in I\}.$
Then the joint pdf $f_{Y_{i,j}Y_{2}}$ of $(Y_{i,j}Y_{2})$ is
given by
 $f_{Y_{i,j}Y_{2}}(x_{i,j}y_{2}) = f_{(X_{i,j}X_{2})}(g_{1}^{-1}(y_{i,j}y_{2}), g_{2}^{-1}(y_{i,j}y_{2})) = J(y_{i,j}y_{2})$
 $f_{i} = g_{i}(x_{i,j}x_{3})$ $L = \sum_{i} x_{i} = g_{1}^{-1}(y_{i,j}y_{2})$
 $Y_{i} = g_{i}(x_{i,j}x_{3})$ $L = \sum_{i} x_{i} = g_{1}^{-1}(y_{i,j}y_{2})$
 $g_{i} = f_{i}(x_{i,j}x_{3})$ $L = \sum_{i} x_{i} = g_{1}^{-1}(y_{i,j}y_{2})$
 $g_{i} = f_{i}(x_{i,j}x_{3})$ $L = \sum_{i} x_{i} = g_{1}^{-1}(y_{i,j}y_{2})$
 $g_{i} = f_{i}(x_{i,j}x_{3})$ $L = \sum_{i} x_{i} = g_{1}^{-1}(y_{i,j}y_{2})$
 $g_{i} = f_{i}(x_{i,j}x_{3})$ $g_{i} = g_{i}(x_{i,j}y_{3})$
 $f_{i}(y_{i,j}y_{2}) = \int_{g_{i}} f_{i}(y_{i,j}y_{3})$
 $g_{i} = g_{i}(x_{i,j}y_{3})$ $g_{i} = g_{i}(y_{i,j}y_{2})$
 $g_{i} = g_{i}(y_{i,j}y_{3})$ $g_{i} = g_{i}(y_{i,j}y_{3})$
 $f_{i}(y_{i,j}y_{3}) = \int_{g_{i}} f_{i}(y_{i,j}y_{3})$
 $g_{i} = g_{i}(y_{i,j}y_{3})$ $g_{i} = g_{i}(y_{i,j}y_{3})$
 $f_{i} = g_{i}(y_{i,j}y_{3})$ is not equal to zero on oll of Y_{i} .

$$\frac{|\mathbf{k}_{i}|_{i}^{k} = |\mathbf{k}_{i}|_{i}^{k} = |\mathbf{k}_{i}|_{i}|_{i}^{k} = |\mathbf{k}_{i}|_{i}^{k} = |\mathbf{k}_{i}|_{i}|_{i}|_$$

- 8. Hit $J(Y_{1},Y_{2}) = \begin{vmatrix} \frac{2}{9} & y_{1} & y_{2} & \frac{2}{9} & y_{1} & y_{2} \\ \frac{2}{9} & y_{1} & \frac{2}{9} & y_{2} & y_{2} \\ \frac{2}{9} & y_{1} & \frac{2}{9} & y_{2} & y_{2} \\ \frac{2}{9} & y_{1} & \frac{2}{9} & y_{2} & y_{2} \end{vmatrix} = \begin{vmatrix} y_{2} & y_{1} \\ 0 & 1 \end{vmatrix} = y_{2}.$
- Applying (\bigvee_{biv}) gives $f_{y_{i,y_{2}}}(y_{i,y_{2}}) = \frac{-(y_{i}y_{2})^{2}}{1} - \frac{y_{2}^{2}}{2}$ $f_{y_{i,y_{2}}}(y_{i,y_{2}}) = \frac{1}{\sqrt{2\pi}} e^{-\frac{(y_{i}y_{2})^{2}}{2}} - \frac{y_{2}^{2}}{2}$ $\int_{2\pi} e^{-\frac{(y_{i,y_{2}})^{2}}{2}} - \frac{y_{2}^{2}}{2}$

Quite often we are only interested in the marginal pdf of one of the rvs $Y_1 = g_1(X_1, X_2)$ or $Y_2 = g_2(X_1, X_2)$. Once we have the joint pdf f_{Y_1, Y_2} of (Y_1, Y_2) , we may find the marginal pdf of Y_1, Y_2 of (Y_1, Y_2) , we taking the integral $f_{Y_1, Y_2} = \int_{\mathbb{R}} f_{Y_1, Y_2}(Y_1, Y_2) dY_2$.

Example: Let
$$(X_{1}, X_{2})$$
 be independent Normal (O_{1}) rus.
Find the pdf of $Y_{1} = \frac{X_{1}}{X_{2}}$.
Howing bound already the joint pdf $f_{Y_{1},Y_{2}}$ of
 $Y_{1} = \frac{X_{1}}{X_{2}}$ and $Y_{2} = X_{2}$.
We need only to integrate it over Y_{2} :
 $f_{Y_{1}}(Y_{1}) = \int_{1}^{\infty} \int_{1}^{1} \frac{-(Y_{1}Y_{2})^{2}}{1 + e^{-\frac{2}{2}}} \frac{-\frac{Y_{2}^{2}}{1 + e^{-\frac{2}{2}}}}{1 + e^{-\frac{2}{2}}} |Y_{2}| dY_{2}$
 $= 2 \int_{0}^{\infty} \frac{1}{2R} e^{-\frac{(1+Y_{1}^{2})Y_{2}^{2}}{2}} = \frac{Y_{2}}{Y_{2}} dY_{2}$

$$= \frac{1}{n} \left[-e^{-(\frac{1+y_{1}^{2}}{2})\frac{y_{2}^{2}}{2}} \left(\frac{1}{1+y_{1}^{2}}\right) \right]_{0}^{\infty}$$
$$= \frac{1}{n} \frac{1}{1+y_{1}^{2}}.$$

This is the post of a distribution colled the Cauchy distribution. Example: Let $(X_{1}, X_{2}) \sim f_{X_{1}, X_{2}}(x_{1}, x_{2}) = \frac{1}{\lambda^{2}} e^{-\frac{(x_{1} + x_{2})}{\lambda}} \mathbb{I}(x_{1} = 0, x_{2} = 0).$ (i) Find the joint polt of $Y_{1} = \frac{X_{1}}{X_{1} + X_{2}}$ and $Y_{2} = X_{1} + X_{2}$. Note that $Y = \{(y_{1}, y_{2}): 0 < y_{1} < 1, 0 < y_{2}\}.$ We have

The Jacobian is

$$J(Y_{1},Y_{2}) = \begin{vmatrix} \frac{3}{9} & Y_{1}Y_{2} & \frac{3}{9} & Y_{1}Y_{2} \\ \frac{3}{9} & (1-Y_{1})Y_{2} & \frac{3}{9} & (1-Y_{1})Y_{2} \end{vmatrix} = \begin{vmatrix} Y_{2} & Y_{1} \\ -Y_{2} & 1-Y_{1} \end{vmatrix} = Y_{2}(1-Y_{1}) - (-Y_{2})Y_{1} = Y_{2}$$

$$\begin{array}{l} A_{pplying} & (\textcircled{}_{biv}) & gives \\ f_{Y_{1},Y_{2}}(Y_{1},Y_{2}) = & \frac{1}{\lambda^{2}} e^{-\frac{(Y_{1},Y_{2}+(1-Y_{1})Y_{2})}{\lambda}} & |Y_{2}| & 1(o \in Y_{1} \in I, o \in Y_{2}) \\ & = & \frac{-Y_{2}}{\lambda^{2}} e^{-\frac{Y_{2}}{\lambda}} & 1(o \in Y_{1} \in I, o \in Y_{2}). \end{array}$$

(ii) Find the marginal pdf
$$f_{y_1}$$
 of y_1 .
Integrate $f_{y_1,y_2}(y_1,y_2)$ over $y_2 \in (0, 0)$ to get $f_{y_1}(y_1)$.
 $f_{y_1}(y_1) = \int_0^{\infty} \frac{y_2}{x^2} e^{-\frac{y_1}{x}} dy_2 \quad \mathbb{1}(0 \in y_1 \in 1)$
 $= \frac{1}{x} \int_0^{\infty} \frac{y_2}{x^2} e^{-\frac{y_2}{x}} dy_2 \quad \mathbb{1}(0 \in y_1 \in 1)$
 $= \frac{1}{x} \int_0^{\infty} \frac{y_2}{x} e^{-\frac{y_2}{x}} dy_2 \quad \mathbb{1}(0 \in y_1 \in 1)$
 $= \frac{1}{x} \int_0^{\infty} \frac{y_2}{x} e^{-\frac{y_2}{x}} dy_2 \quad \mathbb{1}(0 \in y_1 \in 1)$
 $= 1 (0 \in y_1 \in 1)$
mole: let $(Z_1, Z_2) \sim f_{-x} (z_1, z_2) = 1 = z_1 = ex_0 \left[-\frac{1}{x_1} + \frac{(z_1^2 - 2\rho \in z_1 + Z_2^2)}{y_1 + z_2} \right]$.

$$\frac{\text{Example}:}{\text{Example}:} \text{ lat } (\overline{z}_{i_1}\overline{z}_2) \sim \int_{\overline{z}_{i_1}\overline{z}_2}^{(\overline{z}_{i_1}\overline{z}_2)} = \frac{1}{2\pi} \int_{\overline{z}_{i_1}\overline{p}^2}^{1} \exp\left[-\frac{1}{2(1-p^2)}\left(\overline{z}_1^2 - 2p\overline{z}_1\overline{z}_2 + \overline{z}_2^2\right)\right].$$
Find the joint pdf of $(U_{i_1}U_2)$, where
$$U_1 = \overline{z}_1 + \overline{z}_2 \quad \text{and} \quad U_2 = \overline{z}_1 - \overline{z}_2.$$
Firstly $(U_{i_1}U_2)$ has support on $\{(\alpha_{i_1}\alpha_{i_2}): \alpha_i \in \mathbb{K}, \alpha_k \in \mathbb{R}\} = \mathbb{R}^2.$
We have a one-to-one transformation:
$$u_1 = \overline{z}_1 + \overline{z}_2 \left(= \overline{z}_1(\overline{z}_{i_1}\overline{z}_2)\right)$$

$$u_2 = \overline{z}_1 - \overline{z}_2 \left(= \overline{z}_2(\overline{z}_{i_1}\overline{z}_2)\right)$$

$$z_1 = \frac{u_1 - u_2}{2} \left(= \overline{z}_1(u_{i_1}, u_2)\right)$$

The Jacobian is

$$\begin{aligned} \mathcal{J}(u_{1,j}u_{2}) &= \begin{vmatrix} \frac{2}{9}n_{1}\frac{u_{1}+u_{2}}{2} & \frac{2}{9}u_{2}\frac{u_{1}+u_{2}}{2} \\ \frac{2}{9}n_{1}\frac{u_{1}-u_{2}}{2} & \frac{2}{9}u_{2}\frac{u_{1}-u_{2}}{2} \end{vmatrix} = \begin{vmatrix} \frac{1}{2} & \frac{1}{2} \\ \frac{1}{2} & \frac{1}{2} \\ \frac{1}{2} & \frac{1}{2} \end{vmatrix} = (\frac{1}{2})(-\frac{1}{2})(\frac{1}{2})(\frac{1}{2}) = -\frac{1}{2} \end{aligned}. \\ Applying (M_{biv}) \qquad jives \\ \int_{u_{1,j}u_{2}}(u_{1,j}u_{2}) &= \frac{1}{2}i\pi \frac{1}{1-\rho^{2}}exp\left[-\frac{1}{2(1-\rho^{2})}\left(\frac{(u_{1}+u_{2})^{2}}{2}-2p\left(\frac{u_{1,j}+u_{2}}{2}\right)\left(\frac{u_{1}-u_{2}}{2}\right)+\left(\frac{u_{1}-u_{2}}{2}\right)^{2}\right)\right]|-\frac{1}{2}|\\ &= \frac{1}{2}i\pi \frac{1}{\sqrt{1-\rho^{2}}}exp\left[-\frac{u_{1}^{2}+2u_{1}u_{2}+u_{2}^{2}-2p\left(\frac{u_{1}^{2}}{2}-\frac{u_{1}^{2}}{2}+\frac{u_{1}^{2}}{2}-\frac{2u_{1}u_{2}}{2}+\frac{u_{1}^{2}}{2}+\frac{u_{1}^{2}}{2}-\frac{2u_{1}u_{2}}{2}+\frac{u_{1}^{2}}{2}-\frac{2u_{1}u_{2}}{2}+\frac{u_{1}^{2}}{2}-\frac{2u_{1}u_{2}}{2}+\frac{u_{1}^{2}}{2}$$

$$\frac{4-4\rho^{2}}{2\pi} = (2-2\rho)(2+2\rho)$$

$$= \frac{1}{2\pi} \frac{1}{(2-2\rho)(2+2\rho)} \exp\left[-\frac{u_{1}^{2}(2-2\rho)}{2(2-2\rho)(2+2\rho)}\right] \exp\left[-\frac{u_{2}^{2}(2+2\rho)}{2(2-2\rho)(2+2\rho)}\right]$$

$$= \frac{1}{\sqrt{2\pi}} \frac{1}{\sqrt{2+2\rho}} \exp\left[-\frac{u_{1}^{2}}{2(2+2\rho)}\right] \frac{1}{\sqrt{2\pi}} \frac{1}{\sqrt{2-2\rho}} \exp\left[-\frac{u_{2}^{2}}{2(2-2\rho)}\right].$$

Note that U₁ and U₂ are independent; the joint pdf

$$f_{U_1,U_2}(u_{1,1},u_{2})$$
 can be factored into the product of a function
of only u_1 and a function of only u_2 .
Moreover, we see that the marzinal distributions are
 $U_1 \sim Normal(0, 2+2p)$
 $U_2 \sim Normal(0, 2-2p)$.
Also, from what we knew before we could have found
 $Var U_1 = Var(z_1+z_2) = Var z_1 + Var z_2 + 2 (ar(z_1,z_2) = 2+2p)$
 $Var U_2 = Var(z_1-z_2) = Var z_1 + Var z_2 - 2 (ar(z_1,z_2) = 2-2p)$,
which confirms our work.

Example: Let
$$X_1 \sim \text{Beh}(I,I)$$
 and $X_2 \sim \text{Beh}(I,I)$ be independent ris.
(i) Find the joint polf of $Y_1 = X_1 X_2$ and $Y_2 = X_2$.
Firstly, the joint polf of X_1, X_2 is
 $\int_{X_1, X_2} (x_1, x_1) = \prod (o \in x_1 \in 1) \cdot 2 \times x_2 \cdot \prod (o \in x_2 \in 1)$.
We have $\mathcal{Y}_1 = (o, I) \times (o, I)$ and $\mathcal{Y}_2 = \{(Y_1, Y_2): o \in Y_1 \in Y_2 \in 1\}$, and
 $Y_1 = x_1 \times x_2 (= j_1(x_1, x_2))$
 $Y_2 = x_2 (= j_2(x_1, x_2))$
 $X_1 = Y_1 / Y_2 (= j_1^{-1}(Y_1, Y_2))$.

Thus we have, by
$$(\langle Y_{10} \rangle)$$
, that the joint dousity of Y_{1}, Y_{2} is

$$\begin{aligned}
\int_{Y_{1},Y_{2}} (Y_{1},Y_{2}) &= 2 \cdot Y_{2} \left| \frac{1}{Y_{2}} \right| \cdot 1 \left(\circ \leftarrow Y_{1} \in Y_{2} \leftarrow 2 \right) \\
&= 2 \cdot 1 \left(\circ \leftarrow Y_{1} \in Y_{2} \leftarrow 2 \right). \quad \begin{array}{c} Y_{2} \\ 1 \\ Y_{1},Y_{2} \end{array} \quad \begin{array}{c} y_{1},Y_{2} \\ y_{1},Y_{2} \end{array} \quad \begin{array}{c} y_{1},Y_{2} \\ y_{2} \\ y_{1},Y_{2} \end{array} \quad \begin{array}{c} y_{1},Y_{2} \\ y_{1},Y_{2} \end{array} \quad \begin{array}{c} y_{1} \\ y_{1} \end{array} \quad \begin{array}{c} y_{1} \\ y_{1},Y_{2} \end{array} \quad \begin{array}{c} y_{1} \\ y_{2} \end{array} \quad \begin{array}{c} y_{1} \\ y_{1},Y_{2} \end{array} \quad \begin{array}{c} y_{1} \\ y_{1},Y_{2} \end{array} \quad \begin{array}{c} y_{1} \\ y_{2} \end{array} \quad \begin{array}{c} y_{1} \\ y_{1},Y_{2} \end{array} \quad \begin{array}{c} y_{1} \\ y_{1} \end{array} \quad \begin{array}{c} y_{1} \\ y_{2} \end{array} \quad \begin{array}{c} y_{1} \end{array} \quad \begin{array}{c} y_{1} \\ y_{2} \end{array} \quad \begin{array}{c} y_{1} \\ y_{2} \end{array} \quad \begin{array}{c} y_{1} \end{array} \quad \begin{array}{c} y_{1} \\ y_{2} \end{array} \quad \begin{array}{c} y_{1} \end{array} \quad \begin{array}{c$$

If a transformation is not one-to-one, we cannot use expression (biv). The following is an example of such a situation:

Example: Let
$$(\Xi_{i},\Xi_{2}) \sim \int_{\Xi_{i},\Xi_{2}} (\varepsilon_{i},\varepsilon_{2}) = \frac{1}{2\pi} \frac{1}{|1-\rho^{2}|} \exp\left[-\frac{1}{2(1-\rho^{2})}(\varepsilon_{1}^{2}-2\rho\varepsilon_{1}\varepsilon_{2}+\varepsilon_{2}^{2})\right]$$

Consider the transformation
 $U_{1} = \min\left\{\Xi_{i},\Xi_{2}\right\}$ and $U_{2} = \max\left\{\Xi_{1},\Xi_{2}\right\}$.
Firstly, (U_{1},U_{2}) has support on \mathbb{R}^{2} .
We find that $(u_{1},u_{2}) = (\min\left\{\Xi_{1},\Xi_{2}\right\}, \max\left\{\Xi_{1},\Xi_{2}\right\})\left(=\frac{1}{2}(\varepsilon_{1},\Xi_{2})\right)$
has the inverse mapping
 $\overline{j}^{-1}(u_{1},u_{2}) = \left\{(\varepsilon_{1},\varepsilon_{2}):(\varepsilon_{1},\varepsilon_{2})\in\left\{(u_{1},u_{2}),(u_{2},u_{1})\right\}\right\}$
which is not single - valued, so the transformation is
not one-to-one, and we cannot use (W_{1})

Finding the part point of the the many init part of
$$(U_1, U_2)$$
 is just completed,
but we may find the many init part of U_2 say,
as follows, beginning by writing down its edf:
$$T_U(n) = P_U(U_1 \in u_1)$$
$$= P_{(0,1,1)}(mw \{z_1, z_1\} \leq u_1)$$

Theorem: Let
$$X_{1,...,X_n}$$
 be unitable links supres the sum that independent rates
such that X_n be unitable links super the sum true X_n is
 Y_n is $M_y(t) = \frac{\pi}{1} M_{y_1}(t)$.
The particular, if $X_{1,1,...,Y_n}$ all have the same upt
 $M_y(t) = \left[M_y(t)\right]^n$.
Pred: We have
 $M_y(t) = E =$
 $= E =$
by independence ($f(X_1, ..., X_n) = F(X_n) =$

are

Example: Let
$$X_{i_{1},...,i_{n}} X_{i_{n}}$$
 be independent rvs such that
 $X_{i_{1}} \sim Normal (\mu_{i_{1}}, \sigma_{i_{1}}^{2})$ for $i \in I_{1},...,n_{i_{n}}$
(i) Find the distribution of $Y_{n} = X_{i_{1}} + ... + X_{n_{n}}$.
We have
 $M_{V_{n}}(E) = \prod_{i=1}^{n} e^{-\frac{\mu_{i}t}{\epsilon} + \sigma_{i_{1}}^{2} \frac{t_{i_{2}}}{\epsilon}}$
which is the myst of the Normal $(\prod_{i=1}^{n} \mu_{i_{1}}, \prod_{i=1}^{n} \sigma_{i_{1}}^{2})^{\frac{1}{2}}$
which is the myst of the Normal ($\prod_{i=1}^{n} \mu_{i_{1}}, \prod_{i=1}^{n} \sigma_{i_{1}}^{2})^{\frac{1}{2}}$
We can remember from this example that the
sum of independent Normals is Normal, where
means and variances have "accumulated".
(ii) Find the distribution of $Y'_{n} = \alpha_{i_{1}}X_{i_{1}} + ... + \alpha_{n_{i}}X_{n_{i}}$
where $\alpha_{i_{1}}..., \alpha_{n_{i}}$ are real numbers.
 $M_{V'_{n}}(E) = \prod_{i=1}^{n} M_{X_{i}}(E)$
 $= \prod_{i=1}^{n} M_{X_{i}}(E)$
 $= \prod_{i=1}^{n} M_{X_{i}}(E)$
 $= \prod_{i=1}^{n} M_{X_{i}}(E)$
 $= (\prod_{i=1}^{n} e^{-\mu_{i}(t_{n_{i}})} + \sigma_{i}^{2}(t_{n_{i}})^{2}/2$
 $= e^{(\prod_{i=1}^{n} n_{i}\mu_{i})} + ((\prod_{i=1}^{n} n_{i}^{2}\sigma_{i}^{2}) \frac{1}{2}/2}$
which is the myst of the Normal $(\prod_{i=1}^{n} n_{i}\mu_{i}, \prod_{i=1}^{n} n_{i}^{2}\sigma_{i}^{2})$

Example: Let
$$X_{i_1,...,i_n} X_n$$
 be independent rvs such that
 $X_i \sim Normal(\mu_j \sigma^2)$ for $i=1,...,n_i$.
Find the distribution of $\overline{X}_n = \frac{1}{n}(X_1 + ... + X_n)$.
 $M_{\overline{X}_n}(t) = \prod_{i=1}^n M_{i_n X_i}(t)$
 $= \prod_{i=1}^n M_{X_i}(t_n)$
 $= \prod_{i=1}^n M_{X_i}(t_n)$
 $= \prod_{i=1}^n M_{X_i}(t_n)$
 $= \prod_{i=1}^n M_{X_i}(t_n)$
 $= e^{(\prod_{i=1}^n f_n)t} + (\prod_{i=1}^n \sigma^2) \frac{t^2}{2}$
 $= e^{(\prod_{i=1}^n f_n)t} + ((\prod_{i=1}^n \sigma^2) \frac{t^2}{2})$
 $= e^{(\prod_{i=1}^n f_n)t} + (((\prod_{i=1}^n t_n) \frac{t^2}{2})$
which is the myt of the Normal (f_n, σ^2)